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~— = p=mv
ﬁ = (600 kg)[(5.00 m/s) i + (6.00 m/5s)j]
“; = (300x10°kg-m/s) i+ (3.60x10°kg-m/s)]j
* p=[(300x10°kg-m/s)? +(3.60 x 10>°kg - m/ s)]"2
=4.69x10°kg-m/s
0.
p=mo
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Y, =2.00m
v,=0m/s

a,=-9.81m/s’
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t=0.639s

1= [ (-mgj)dt = -mgj [

—mg(t-0)]

I = (~0.250 kg)(9.81 m/s?)(0.639 5)j
= (-157 kg-m/s?)]
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o +a,t =0m/s +(-9.81m/s*)(0.639s) = —6.27m/s
P, = mv; = (0.250kg)(-6. 27m/s) J=(-1.57kg- m/s) J

B = (0kg-m/s)]

Ap=p; —p; =(-1.57kg- m/s)J (Okg - m/s)J
= (-1.57kg- m/s)J

D. .

Pi =MV,a = (0. 250kg)(—6.27 m/s)j

= (-1.57kg - m/s)J
B, =(0kg-m/s%)]
AP =P, — P, = (Okg-m/s)j— (~1.57kg - m/s)j
= (1.57kg-m/s)]
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